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39-It’snecessary for her .... on along dresswhen shehad
guests.

1) put 2) putting

3) to put 4) puts
40- Very good cars...... in thisfactory.

1) should make 2) should be made

3) will make 4) could be make
41-The..... of the car accident weretaken to hospital.

1) victims 2) managers

3) composers 4) repairmen

42-1'm sure that hewill confine histalk to pollution.
“confine” means. ......... .

1) centeralize 2) limit
3) translate 4) ban

43- The passenger will ..... hisjourney in afew moment.
1) set up 2) set off
3) see off 4) stand up

44- studentsfollowed their teacher’s lecture carefully.
1) closely 2) terribly
3) rudely 4) centrally

45- Teacher decided ...... the exam until next month.
1) to post pone 2) to reserue

3) to remain 4) to protect

46- Mehri asked me whether ..... shapping every week.
1) did I go 2) | went
3) had | gone 4) that | went

47-1 am afraid | am not very ..... today.
1) organization

2) organize
3) organization
4) organized

48- We can’t walk to the cinema. It's...... .
1) far enough 2) too far
3) enough far 4) far too

49-1 watched TV last night. “....."
1) my brother does too
2) so does my brother
3) my brother did too
4) so didn’t my brother
50- Administrators who manage the oil company are
excellent.
1) soldiers
3) politicians

2) officers
4) managers

100y pns f’""s (cudy) = )

blse (Y L O

3l (¥ olalss (v
;L;;.J_((c_,;j»—\'

OB b (Y ol getb ()

Shuo,g (¥ Gz 51O ool 2laS (Y
sl Cyn L 58 a4y S aes Ol -

b3 sl (Y g5 ()

Sbpn 5 oY a (F glaal 5 LI (Y
Tl 5185 i ) JSCtme (liiecy ) 519 = F

aw (Y 0

& (f Ol (¥
Sl ) IS 4 (gt 435 plaS 53 =0

Adls (¥ b dis ()

Lle 5o lel (¥ 09380 595 G (V

A@Tuwrﬁje\fiwrﬁ (ol (3 a5 s (sl o) s —F
Saylsly o3l igljfus u».uj(..» Fyriaty 2
Slb (Y o3 ()
sl (¥ ans (Y
o)l (Las ablize) aiy 8 plas -V
ol (gl s adasd Ly i /L 5 51 ()
- Sl oy 3 i Olasi L (Y
1 S e s Ll 38 s (Y
eSOl i) QT)'\W;..MS(*
Sl ot 83 Cys ) ,uU&ifuszM,; -A
el Ledass =laj 5, ()
o T M =031, 51 (Y
Sl Loy = 5 S (F
s ko =00 S35 0 (F
oS il (anlishtw) -4

Srspm s (Y GAS o (5 g (
SBL (Y Sz (7

o)len (S S ol 1o 5k K ) (A e Ol gl ) e 2 Y
?\;,_,.:-_: uwln f‘“"’@f (ul,aJ;

slajs (Y s (Y

03,55 5L 5l 51 (F 03,5 5L sl 51T
j:l:.'ﬂMﬂwﬁ.ﬁsllaﬁajqu‘smjtﬂwj.ui;»;L.:.!).s—\\
?;,.:_,gmméwu%«fuﬂ

ol (F oyl (¥ ais (Y oS3l ()
%;ﬁw|gb&bﬁ%}§%&p€m;w—\\'
fMJJJJ’w‘Mﬂw;:“s‘(\
pLE s g o s el el (Y
S 2 Gt 45 Oy Ol g0 (7
S35 05 5 e G SleS B (Y
otbire a (ol 555 08 558 A8 s 4 glmas 53 () = 51 =AY
C3gd oo il
13 (¥ Os (¥ Sy Ll (A
l (435 1+) o1,cm I
ot (g s lon 45 s ) S 8Ll G301 g padll pa Lo -V
oS o i )y pa S
OUadl ot Beis 2ol 0] OO
OUatdl Il 05 sl O (Y
Ol 5l Y1 D5 sl Of
OUatdl 1l Y1 g sl Of (F
SR Ll B ol g5 e =10
Cocinall b aadas S I pomy Li33edl raddl)
aom a3 (Y 3520 ()
aolnb alo (¥ trol o (¥
SN Sb 5o el 52 L -\ F
Jbsl (Y JLasl ()
JUE) (¥ Jaish (¥
.. .;_a,;u_;’;d_?,» Al ol 2 Lo -V
o T (Y e e ()
Sl Uasll 5o Lo 1A
(5,88 U g Lagis oo )
el (Y T s
SIALI (F SN
AL S Lged Ublond ) b 0 B o5 14
oL (Y e ()
e (7 s (¥
32l U gl Lgd domgy 1 5Ll 520 Y+
Aahe - 81 (1
s 1Sy
VU5 G i (1
% ) G 3 b Lo (¥
SEII JLYI o gemendl g Le =Y )
«L:,,/al: ‘rjﬁl ‘b‘,;/ﬁ;,‘:»
SN 3 zes = Il = el ()
Jbsl = Jlaisl = Jlasl (Y
Il = Jlasdl — Jlais (¥
S 520 — Il — Il (¥
Oaall o emnall 52 Lo -Y Y
clasul - =5 (¥ sxl-ex ()
Ol = s (¥ G - A (Y
ol Cilae g slarle I 5,Ladl e —YY
+ Saal O3l U3 ()
szl s Uaioeal ods o, (Y
‘ RSB oy domndl ol (F
) ’?&:JL:!I/S)L_.-J|@',..$:.\| C_,S_,Al.n—’\'f
Clagae 0 Liby )b b sl slugll o
dro] ao (Y 3,2 (Y
Aoz as (¥ adad alos (Y
e Tl S gt Bl i 5 L Sl o L0
o Eitelal (Y PRUERSVATE
I 550, (F e Momn 5 adl Ol 1 5 (¥




